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Que.1
(a) Explain meaning of Permutation and find value of n : (8
(1) "P3 =6"Cs (2) "C4 = "3
| (b) From 5 boys and 4 gizls a committee of 5 person is to be formed. In how many (9.5)
ways this can be done under the constraint that committee contain at least 3 boys? '
Que.2
(a) Find value of (1) °Pz + Ps 2 "C+ % (3) X Spy 3 8)
* (b) There are 3 English books, 4 Hindi books and 5 Gujarati books on a shelf, - {9.5)
- ‘How many total arrangement are possible? In how many cases the books of the
same Languages are never together?
| Que.3
(a ) Obtain the equation of line with slope m and passing through points (x1,y1). (8)
- (b) Prove that (1,-1), (-2, 2 ), (4,8) and (7,5) form a rectangle. 9.5)
Qued
* (a) Find equation of line passing through the point of intersection of the lines 3]
" x+2y+6=0 and 4x -y + 6=0 and having slope -3-
(b)(1) Find the equation of a line passing through (2,5) and its slope is 3. (9.5)
(2) The slope of kac+3y-2=0is _?2 than find vaiue of k.
Que.5
~ (a) What is mean by Linear Programming? Explain uses of it in detail. (8)
(b) Maximize Z=15x +20y under the following constraints: (9.5)-
Ty 70 ,x+5y=32 x20,y2 0
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Que.6

(a) What is mean by Transportation Problem? Obtain basic feasible solution of the (8)
following Transportation Problem by North West corner Method.
Origins 1 2 3 4 Supply
1A 5 1 3 3 34
B 3 3 5 4 15
C 6 4 4 3 12
D 4 1 4 2 19
Demend {21 |25 17117 80

(b) Solve the following Transportation problem using Vogel’s approximation Method.  (9.5) -

Origins _ 1 2 3 4 Supply
A 19 30 50 10 7
B 70 30 40 |60 9
C 49 8 70 |20 18
. { Demand 5 8 7 14 34
- Que7
. (aj Write rules of differentiation. (8)
(b) Find maximum and minimum values of y= x? +6x2 -15x +7 (9.5)
Que.8
(@) If f(x) =5%° -- 8x* -2x — 7, find the value of x such that £ (x)=14, ' 8)
- (b) Differentiate the following with respect to x, ( Any TWO) - 9.5

1. y=(3x* +4x+5)

_ 3 - i} 3 6x+7
2.y= (x+2)(x+3) S A Y= Tg:1ac+s‘,) ( 8x2+10x+3)')

)
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(8) sHuA Ual A oAl e MU A n ol At Nl 1 : (8)
- (1) "3 =61Cs : (2) "Cs = "Cs

() 5 15D A ¢4 Agdlelloll 5 cuEReA 5RA choticleiel D, sRA Aestad (9.5)
ollon 3 l8RARA Al A e Beell AR wl wwotieh st 7

Que.2 _
(@) At Aadl : (1) %P, + 5ps ) 'C;+C;  (3) ;X p, (8)

(b) A soueHl 3 2ol QU4 Botlell WU AN 5 Al AudA D,  (9.5)

' ".gc—l Becll s Ut B? get decll uRRni Aser euntoll Ayl As WA 2l

- atﬁl&li‘-l?
Que.3
(8) m e atell wa (x;,y ) Glgnl ol vtz adl Ruite] wlseg Aad, . ®
(b)) Rt 833 (1,-1), (-2,2), (4,8) AR (7,5) uA ey o B, (9.5)
, Qﬁe 4
(@) x+2y+6=90 u& 4x -y + 6=0 oit Beatlolg i ol wanz acd ud —awl aefl (8)
ite] AallsR A,
(D) Bl (2,5) ui oll uaz adl A 3 atmqwﬂ i wllsee Aadl. | 9.5)

: (2) kx+3y-2=0 ol 2l =% élet dl k ol Buct Aaq,
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Que.5

(a) Y2t 2ot Aed Y72 Aol G Recteyds duxdl,

(b) &cetall @BeL 2= 15x +20y A ollAott YRAQAR 2utllot HETH WAL ¢
| Sx+7y 70, x+5y< 32 x =0,y > 0
| Que.b

(8) dlgolcatagt? oft szl RAe@ g7 Aoll atgetcaialsiz o uuzt o) Wills uie G3e
Griz uBH vl & Aad,

" | Gomfelg 1 2 3 4 Yya8l
A 5 1 3 3 34
B 3 3 5 4 15
C 6 4 4 3 12
D 4 1 4 2 19
Hiol 121 25 17 |17 80

- (0) oAl cugotcatcistz oft yuzu ol G3ct Aded ofl ey A Aad,

Ganlelg 1 2 3 4 Yedl
A 19 30 50 {0 7
B 70 30 40 60 9
C 49 - |8 70 20 18
| o 5 8 7 14 34
 Que7

(a) Rlseiet ot Rt .

(b) y=x* +6x% -15x +7 ofl Herin A clyniu Gudl Aadl,

Que.8

(@) R =50 -8 -2x-7 8 dlxoll Arct WER 3 Rell P (=14 212,
() A Aatte] x A WAt Aot 53 (2N A Q)
1. y=(3x* H4x+5)

3
(x+2)(x+3)

3 6x+7
4x+5 ) Bx2+10x+3) )

3. Y=(2x+

2.y=
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(9.5)
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(9.5)

8)
(6.3)
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(9.5)



